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Paper / Subject Code: 80503 / Operating System.

(2 Y2 Hours)
1) All questions are compulsory.
2) Figures to the right indicate marks. e TG
3) Illustrations, in-depth answers and diagrams will be appre01ated." P

* [Total Marks: 75]

4) Mixing of sub-questions is not allowed.

Attempt all questions
Multiple Choice Questions.
1. Software may trigger an interrupt by ex"'

A) Increased throughput
C) Increased reliability

3.

i. Mutual exclusion
A)i, i, iv B)ii, i

ircular wait

e ‘relative simplicity of the
e when there are no more

: txme dom computauons

3 Every ad res ,Agenerated by the CPU is divided into two partsta and

S g page offset” 5~

e 4An vaddresés"ggﬁerated by CPU is commonly referred to as a
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5. In the algorithm, the disk arm starts at one end of the: d15k and moves
toward the end, servicing requests as it reaches each cyhnder, un’ul 1t gets tQ«fhe
other end of the disk. :

Answer in one or two sentences.
1. What is mean by time sharing system?
2, What is a device queue7

5 What is file open count?

Attempt the following (Any THREE) 2 S ; 15M) 3

(15M)
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Q.4 Attempt the following (Any THREE)
(a) Explam in short segmentation techmque
(b)

with diagram.

Assume that there are total 200 tracks are present ong

(d)

(e)
implementation.
(f) Which are access method of file system,

Describe various
management

\gés of priority

540380 0 Page 3 of 3

BAFCACA87462F91EES8C34BA6190B0A46



